
Poser de$ ²addition$ avec retenue.

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

32+28 44+36 38+13 25+15

+ + +2  8
3  2
²d ²u

+3  6
4  4
²d ²u

3  8
²d ²u

2  5
²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

14+36 16+46 29+11 7+63

+ + +3  6
1  4
²d ²u

+4  6
1  6
²d ²u ²d ²u ²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

32+28 16+76 45+27 35+15

+ +2  8
3  2
²d ²u

7  6
1  6
²d ²u ²d ²u ²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

13+47 82+8 58+22 41+29

+ 4  7
1  3
²d ²u ²d ²u ²d ²u ²d ²u
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En cours

Poser de$ ²addition$ avec retenue.

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

27+16 65+17 14+56 29+41

+ + +1  6
2  7
²d ²u

+1  7
6  5
²d ²u

5  6
1  4
²d ²u ²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

27+33 54+6 26+38 65+28

+ +3  3
2  7
²d ²u ²d ²u ²d ²u ²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

14+66 8+82 47+47 36+26

+ +6  6
1  4
²d ²u ²d ²u ²d ²u ²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

48+38 53+17 86+4 9+71
²d ²u ²d ²u ²d ²u ²d ²u
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Poser de$ ²addition$ avec retenue.

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

32+28 44+36 38+13 25+15

+ + +2  8
3  2

6  0

²d ²u

+3  6
4  4

8  0

²d ²u

1  3
3  8

5  1

²d ²u

1  5
2  5

4  0

²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

14+36 16+46 29+11 7+63

+ + +3  6
1  4

5  0

²d ²u

+4  6
1  6

6  2

²d ²u

1  1
2  9

4  0

²d ²u

6  3
0  7

7  0

²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

32+28 16+76 45+27 35+15

+ + +2  8
3  2

6  0

²d ²u

+7  6
1  6

9  2

²d ²u

2  7
4  5

7  2

²d ²u

1  5
3  5

5  0

²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

13+47 82+8 58+22 41+29

+ + +4  7
1  3

6  0

²d ²u

+0  8
8  2

9  0

²d ²u

2  2
5  8

8  0

²d ²u

2  9
4  1

7  0

²d ²u
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Poser de$ ²addition$ avec retenue.

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

27+16 65+17 14+56 29+41

+ + +1  6
2  7

4  3

²d ²u

+1  7
6  5

8  2

²d ²u

5  6
1  4

7  0

²d ²u

4  1
2  9

7  0

²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

27+33 54+6 26+38 65+28

+ + +3  3
2  7

6  0

²d ²u

+0  6
5  4

6  0

²d ²u

3  8
2  6

6  4

²d ²u

2  8
6  5

9  3

²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

14+66 8+82 47+47 36+26

+ + +6  6
1  4

8  0

²d ²u

+8  2
8

9  0

²d ²u

4  7
4  7

9  4

²d ²u

2  6
3  6

6  2

²d ²u

Je ²pose ²en colonne$ ²le$ addition$. Je ²calcule.

48+38 53+17 86+4 9+71

+ + +3  8
4  8

8  6

²d ²u

+1  7
5  3

7  0

²d ²u

0  4
8  6

9  0

²d ²u

7  1
0  9

8  0

²d ²u
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